I IR ABC#14e zyx &, ot DEF T e #T2 ?

?
If the code for ABC is ZYX, what is the code O DEFC) VWU (D) uvw/
(A) vur (B) WvU (
2. ST Hen g i IR (L
Find the dissimilar pair of numbers. 9':“5
4 12 2 8 {";C 24 (D) S
@ 7‘%’ @ 2L ,'.() 9’ 8] 5’ 30
7@ & Srede st & fi Tl (STER) T Wy

3. @wﬁ)@ﬁaﬁaméﬁgﬁ)ﬂ
e (xR gdoTen ST & | R ey et (1) QT Tk € 2

A plane intersects a regular tetrahedron in such & W}ay that the intersection forms an equilateral triangle

How many such planes can do this ? (&)
A) 4 (B) 1 ©) 2 (D) 3

wﬁawﬁﬁn’ﬁéﬁlﬁmﬁq%aﬁaﬂt%lEﬂ,im%aﬁ’sﬁr%éfmmamaﬁaﬁ%lﬂzﬁ,qzﬁaﬁrzh
FAT | TR I ?

(A) ¥ ®) ¥ (C) Tt (D) T

Four friends are sitting in a row. Sam is to the rlght df Tom. Amy is to the left of Tom but not next to him.

Rick is between Amy and Tom. Who is sitting at the“far right ?
(A) Tom (B) Sam ( (C) Amy (D) Rick

5. 30T ¥ 800 H U wrgfehet Wit 3R fRIE T 920 lﬁaﬁm | JEehT AT SfcrTe T 8 2
Arun bought a cycle for T 800 and then sold it for §9f0 What is his profit percentage ?

(A) 10 (B) 15 {vf, ‘}C) 20 (D) 30

6. Freiien ¥ e (39 AR O
Pick out the odd one from the following.
3,5,7,9,11, 13,17, 19
2 ®) 3 © 17, ©) 19

7. TEAHAATER mwwéﬁwmaﬁm%mmﬁﬁmmﬁm
7T =t | of}

A figure is given. You have to identify which thth the following pieces is not required to make this

I 1
figure. {4

& ¢ 3Tl / Given figure (A

HTZ-.24 Page 2 of 24
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10.

11.

12.

13.

1¢ odd one out. of)
O
(A &L
) (By \/Lf'; (€) (D)
ff::j;gfmxmmu | (j;\;'
rom the given series.
64, 57, 50, X, 36, ... ®
(‘A) 42 (B) 43/ (C) 44 (D) 48
AET  Spveft s 31 T |
Find the next number in the series. O
280, 275, 265, 245, ... o0
(A) 205, (B) 210 ‘;_ /(€) 220 (D) 215
fewme foredt & & o ioirs) Mg i)
(A) forerdes , (B) iy M) fisst (D) FehIs
Find the odd one out from the given alternatives. <4’ ;
(A) Milkshake (B) Burger ()(C) Pizza (D) Cookies
| g |
?
N [/
ﬁmwﬁmﬁﬁaﬁﬁmﬁmewﬁ%aﬁﬁm
Find the next figure in the above series from the %ons given below.
4l
-
I II 111 v ) A%
(A) IV (B) V.~ @i(C) 1 (D) 11

st STt 3TTHfer =t Jrar <hifi |

Find the next figure in the series.
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14. JEAH @ favg @) M@ HRm|,
Find the odd one out in the series. ol
B4, D16, F38, H64, J100 ) 6
(A) Hé4 (B) F38 o (C) B4 (D) DI
s
! ‘ . | N
15. ATH{a & Brisi i @31 314 iR ] ORs ~ .
Find the number of triangles in the figure. A @ g , /@ ,'(;
. Ne
. . Us) o
(A) 16 (B) 12 o (© 18~ (D) 14
16. @mﬁ@mﬁaﬂtmmgmﬁm gl wt i geeitdt 32T 3 AT B | T 3 AEHT H
freyFREERa R 2 !
(A) st (B) et ) (C) ==& (D) WSt~
Pointing to a man in a photograph, Asha salci “His mother’s only daughter is my mother.” How is Asha
related to that man ? ,,,
(A) Nephew (B) Wife (C) Sister (D) Niece
(d
17. FrafaRea & & ffwmwrafw) &)
Select the odd one out from the following. :
(A) 23 (B) 63 (|17 (D) 11
18. @Wﬁﬁﬁ%@ﬁ@ﬁﬁﬂ%ﬁﬁiﬁﬁﬂ%%ﬁ%ﬁﬁ@ﬁ@%@%maﬁ
w3 e e R g | o
Study the following positions of a dice and, determlne how many dots are there on the dice face opposite
the one with three dots
A P4
(A) 6 (B) 2 (D) ';/
19. T gl i A1 FEm FAd g farie J g T fira 1 sheld! aed 3 2 |7 e 3w g @ fo
TR Eeifera & 9
(A) =T (B) mmr (C) HH .~ (D) foram
Pointing to a girl, Vinod said “She is the daughter of the only sister of my father.” How is Vinod related to
the girl ?
_____ E/-\_)_ fx_r%_n_ldfather (B) Uncle (C) Cousin (D) Father
HTZ- 24 T T e s e e e e e mmmmmmmmmmmmmmmmmmmmmm—mm o=
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20. ﬁqﬁgﬁﬁéaﬁ'«r—m%muﬁ%? -
(A) TN i 3fY wa et welt R, S Rk
(B) W%mu@wﬁmmaﬁﬁg A
(C)  3¥9 ST 1 75 ST TG | |
(D) T AR I=gwT A 4T | 5
21, Frefofea # & fore vrog 1 ot w29
(A) FF B) fifema (C) s
22, SR RIS o 3 T R
(A) THR9aH (B) TeAfofa/, (C) =aTrTET (D) ¥aa T
23.  EH 39 S F Fael o § Y srenfeRk swaet £ 0
(A) TG 6t HeTe 1 FamargEcs T ||
(B) mﬁanaﬂtﬁvhﬁwmﬁmr@w\y
(C) forvamaum fir %1 @ o | -
(D) ST AT T A1 G |
24. =ggER FI ggad ‘
(A) qA e A T 2 | \J (B) FIR AR |
(C) Waﬁtﬁmmawﬁ%n/ & (D) |9 I A T &t |
25, FER I IAAGA H F1H-81 W @ B 2
(A) IMA™E (B) aﬁww/ (C) Id @ (D) FFOTTH
26. frfafiaa & @ wd ot #1 amm fife: - )
(A) FRTATATMIAEARRR | g (B) T G R AT
() ANfFena@emagmaft () (D) T A A € ey At

(A) IPFE-TRE (B mﬁ:-m% (C) A - NH (D) 3nfE - 3=

28, “TUTHHST HEAWHE R : )

® T

(A) TIH B) G (©) T (D) &
29. IS’ ITe% 1 YATETe Yrog 5AA ST : : .
(a) Fa= (B) T (C) T (D)

-
-o

------------------------------------------- Page 5 of 24
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30. “Nﬁmﬁaﬂmwﬁﬁ@zﬁqﬁmw,;maﬁmmmgﬁﬁmﬁiﬁ%?
(A) B F fiew et (B) gﬁmﬁaﬁmmﬁ?ﬁqw
(C) @& &\ U (D) T A T
31, W ored o e gm M- R 0 ol
(A) TR-® = ST AT ATeedt ( )(B) 3T - ATHR = T -
(©) FIo-F = 9w L) Frof-fk = TE T
32.  ‘HEe §BE-dr a2 S
(A) fowt (B) <J© = (D) =
33, fomre o gt & o o frepedt & & - forea SR 2 2
(A) R Frawren (B) swHam™ )(C) v e, (D) =% F1TH
34, f& ¥ qra: qont 6 v fea R 0 ’
(A) 53 (B) 50 ©) 5l (D) 52
35, O o IR WH HH-6T1 8 ?
(A) T B) wuf ) #v (D)
36, gee fhe T 1 e R 2 )
(A) fa e (B) TEET™ () sfEEHE (D) TGRS W
37, Ty AR B gi}
(A) wRwRd,  (B) W= W ,Zi}(C) ey (D) FATH FFETA
38, Frfolad # & e R w1 99 FINT \
(A) SATTHRET bl FegT T e & | {i“i)(B)/m'd?haTﬁ'?ﬁaﬁﬂ%TmI{{éﬂTéTﬂl
(C) STdaRaTeT st T ST gEat an | @“)(D) AT TR 1 Tt T e &t | -
39. Sy 3 sy TEET 3 T A P o T & W R TR 2
(A) TR/ (B) H @M
(C) ¥ T TTeT HATeTd JEh @) FrEd! g
4. fE&H @t od
(A) HEEs (B) ed ()(C) TAA (D) =
41 Freferfia i & qataarh auE o A-a1 W e T R 2
(A) T — TR (B) T —amY, (")(C) Tz - A (D) YRR - &R
. i de B i i R e 8 E 2 \,,_T:--]
(A) 22 (B) 12 o) 13 (D) 11
5. F R Feams R R ((H;
(A) SMEH (B) () WA, (D) &&=y
44, ‘TPz F i@ IEE R
) W ®) =, © 5H (D) W
45, e d AT-ATENER ?
_____ (A) v (8) T © wghfe O T,
Y S Pascsofz4 T
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TR ey 35 Forg TN oF8 e e fady fay 7t o1 2

A) Tiremm  (B) ‘iﬁ""mqg (C) = firsr
frfofas ¥ & . v Jeem

(A) ¥R (B) =& (C) wm
“T-IIR-TOP 5 T T I S ) vt e 8

(A) SHEREEyfew (B) Tam-ufiaig (C) IA-H1E-352
‘O ITET A TIIRE 'S

(A) YusHt (B) A9Td, M (©€) IFfed

3R 1 vt T R )

(A) 3™ / B) faw ‘r} (C)
ﬁﬂ%ﬁﬁﬁ%ﬂqmw@wm%o A

(A) " ®B) @, < (¢ ww

fieg’ = Sffem a2 ()

(A) e ® MRy @ (©

RUER I CRR GRS |

(A) dfe s (B) WTHI FAATY- (C) Ut FquH
frafoRaa a7 @ fora ar § sta=T @ © ?

(A) Do s F = y (B) IRt =w Ty
(C) wifea &pe uga TR | ot (D) Trer wgr T g |
Frferfaa AT 3 & T 3o e A €

(A) . TET doh 81§, 3T | I B) FfeEmdswlL

(C) eiar R e weht ¥ | () (D) SR
et & T o T S % forg oo e - <]

(A) wEOT (B) Teeurft () (© s
. XoY#SEEX, Y haed ®
2. X3YHFAIRX, YR TAR
3. X8YHAIRX, Y wufa
4. XSY®RHAIZX, Y Frqei
forefeafiaa # & fareap ord & fir K, HA EE R ()
1. X2Y means X is the sister of Y o
2.  X3Y means X is the son of Y ‘;‘ v‘ff'
3.  X8Y means X is the husband of Y Y
4. X5Y means X is the wife of Y J
Which of the following means that K is the mo(ﬁs‘-in-law of H?
(A) H8I2J3K5L (B) H315J3_l_,(_§_1§)__(_c-)__ﬂ2.154‘3I§8L
_________________________________ @ge 7 of 24

(D) AT

(D) T

(D) SHE-Xd-qd
(D) UTE

(D) =94

(D) THERT

(D) e«

(D) Hfere Ida

(D) F9o

-
- o



66.

67.

68.

69.

70.

71.

= «a’'Ss T a BN
oA\ g
'-\\-\\ 'ss)o)‘ O'\\\ n

(&) 727

0 . ()
“?‘W@?ﬁmﬁ e () 5w  foraa &, o1 a8 @ B ot ¥ ard A 13a’f31m$1=f—m% L ets D
Which s the 13t letter to the left of the 6th |etter from the right when you write the English alph?
backward order ?

(A) 1 B) T, (C) H D) S

AR Toreht ety ot 5 AT 1 TR U, o 3w W Y 20 ARG e foy e - R ST 2
If Thursday will fall on 5 of a month, then which day will fall three days after the 20 of that month ?

(A) Sunday (B) Monday (C). Tuesday (D) Wednesday

SE wigfeat, X, v, Z, S,PWQ,@W%%WM?IWMW@W%%;%WM‘P, Y

3N S F ol if 7 31 R, AT wp A o 4 )| B3tk Q wh-gw & vl €1 2, s 3 and 3 p ¥ ard
BIPFIEINR? |

'
a7

Six girls, X, Y, Z, S, P and Q, are sitting around a cirpuﬁar table. All of them are facing toward the centre
of the circle. P is not sitting between Y and S, but somgone else from the group is sitting there. P and Q
are opposite to each other. Z is to the left of S and right'of P. Who is left of P ?

(A) S (B) X €)' Y~ (D) Z ¥ S
afe # veft o & ofim 1 o sgar , e e RS w0 (-
(A) <Rt (B) I €) ot (D) ufirft / G

If a bird flies from East to West, what direction is it flying in ?

(A) Southern (B) Northern (C)) Eastern (D) Western

sEeT 2, 5, 10,17, FHGIRINT | o

Complete the series 2, 5,10, 17, . G

A) 26 (B) 24 (@) 28 (D) 32

27 a@ﬁmmq@xa@sﬁ%ﬁmw%m%lgﬁm 35% %, dl x FTHA TR 2

The cost price of 27 articles is the same as the Selling prif:e of x articles. If the proﬁt is 35%, then the valye
of x is :

(A) 20/ (B) 22 %24 (D) 18
e STt I A A 15 Feply s &, O g Y S %Wls%ﬁﬁg\ﬁmm%sﬁ(m-wm
%H?mﬁ15%%ma€t@'3ﬁtwﬁmmﬁ@*m‘5wﬁiﬁ m?laaaqqe,
srfiren foig & fohereft g ot o e A 2 2 :

()

(A) 30~/2 feret afigur.afim (& 30+/2 foreft Ie-afam
©) 302 Pt gmgd ) 30+/2 fereft aféor-gd

.d Fast and turned to the left. -
A man went 15 km towards North, then turned East a})dlcovcred. 15 'km ;nd fmctand A :v h‘? N ;\_gam. after
15 km he turned to the right and covered 15 km to reach'the destination. How ich directjqy, is
he from his starting point ? < ]

;‘ -West
(A) 30+/2 km South-West (B); 30+/2 km North-Wes
(C) 30~/2 km North-East (B)) 30+/2 km South-East

-
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58.

60.

lu\'

w,:c”'" —

\ T s

afk 987 &Y 123, 741 ﬁ369%mﬁﬁ%aﬁmwi?ﬁ269aﬁmmwmm?

If 987 is coded as 123, 741 as 369, then 269 will be coded as : D) 356
(A) 841~ (B) 367 (Gaes 840 (

afR O 3 N A 15 A e 2, ?ﬁ90ﬁﬁn%/qz#ﬁnﬁrﬁamwﬁaﬁ3“3“ﬁ600tﬂaﬁga
T IR A | foraaT gm & 2 S
(A) 39 @HUS (B) 35 ¥Fve (C)14213rmo:=r (D) 37

If a train crosses a pole in 15 seconds, how long will it te}ke for the train, travelling at a speed of 50 ’
to cross a bridge that is 600 meters long ?

(A) 39 seconds (B) 35 seconds @ ,42 seconds (D) 37 seconds

S, VR | P, S N T R d, st T, MF R 1Y, R AT a2
P, V ¥ fore TR Geiftrq 2 2

(A) & (B) W~ ©) f (D) ¥

S is the brother-in-law of V. P is the father of S and T, who i is the father of M. V is the daughter- in-law
of R.

How is P related to V ? £
(A) Son (B) Father-in-law (G)y Father (D) Brother

61. fra, e & et § <ifer wmyt et ot @i 21 fFIT Wﬁmﬁawﬁﬁ%éﬁqaaﬁm ft & 21
draU T dT A R 2
(A) wAgd B) frr (C) ‘=rﬁm (D) TAr-
Namita is taller than Priya but not as tall as Madhuri. chna is not taller than Namita but is not the shortest.
Who among them is the third tallest ?
(A) Madhuri (B) Priya (C) 'Namita gp)/Reena
cus & . )
62. AT 1,2, 6,24, 120 F 3TTell GEATHTE ?
In the sequence 1, 2, 6, 24, 120, what is the next number ? S \
(A) 720 < ~ S (B) 360 (C) 480 (D) 650 ?
63. H@e 6,24, 60,120, F smeli e y@ Al i
Find the next number in the series. 6,24,60,120, . ”:il -\;\\/
(A) 210/ (B) 236 Q) 216 (D) 218 (,;\(i 2 0
/% STEHT 9E T Hifore | 4 - N
Find the dissimilar term. S A ek
P49, T4, Z64, K9. t N
(A) Zo64 (B) P49 (©) jK9 (D) T4 /
65. WWW (n
TSRS - SIETHT 22 2 : AT
(A) S (B) HESEE] (C) ATEZIH (D) FTe SrgiraTEE
Complete the analogy :
Oxygen : Burn :: ? : Extinguish
(A) Helium (B) Hydrogen (C) Nitrogen (D) Carboy dioxide
HTZ-24 T T T T page8of24 . TTTTETITTTo
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73. P mEEw w-mwﬁﬁﬁmm?ﬁwaﬁﬁwwwm

V22014

£7]2013
2012

0 10 20 30 40 50 60 70
(=~
i} it 1 g
753 B § 3 ifa1 $1 e &t 2014 # fregdier e m a1, 757 D F wiat i wemn 1 e wiawe 2 S
2012 = Faegdrm frar man a2
(A) 65% (B) 40% 7)(C) 3333% (D) 80%
The given graph shows the number of villages uﬁfour different states where electrification was done in
different years. ‘ _/
| | |
S ////////////////////////////////////// /0////
1At A P it et at s T St S
. /////////////////// :
State B 50 2014
2013
2012
State C

State D

o
P SAAAALLLLL,

0 10 20 30 40 50 60 70
Number oﬂillages
The number of villages in State B where electriﬁ(@on was done in 2014 is what percentage of the number
of villages in State D where electrification was dopg in 2012 ?
(A) 65% (B) 40% (C) 33.33% (D) 80%
T 7% Y S oy 7
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74.

75.

76.

11.

78.

79.

80.

81.

HTZ-24 N %\ 95 . S
A = G MLy°
%ﬁ\%ﬁ ODQ % 5 |

¢

W A\r¢ ~
J

Ife w M\ )
) | | M1
If W is the mother of X arid)Y b ~ (o ©H (D) e ";\\(ﬂ‘ “" ) > ®
»and Z is the hushand of X, then what is W (o 7 » .\‘\‘x R

A U (B) M() r-1 ¢ \ S
thC ln'ldw ;} J ((‘) M()(ht‘r (l)) ‘|'|( r \.K
SIste ‘

€ AT J1q Hifvre B 15
: 19%3@13 3
Find the number that must be subtr a“ﬁfﬁ Wmm&m‘ - 4 % sy sETan Al | |
A) 5 ) N acted from the terms of the ratio 15 : 19 to make it equal to 14 19
e i 2y el Y ST R 125% A ] © 3~ (D) 4
5 R\ ot el o arer sftrm o 1 @ ey wfrarer a6 2

( ) 0/ / ° Slta' (\‘Q. at pelCCnl 1S x;nﬂ S mcome ICSS tllﬂll [hi" U'- h“' .,‘ e
A 55.55 3/ (B) 2.5/0 o (C) 12 I/O ([) 2l ' ’

- 0
Y

e B et Ryem TS AT
?ﬁﬁﬁm&ﬁ%wm(ﬂcmaﬁwma it sifa frsroren 2 @ & 3
Wh*"\ﬁ IO et & i e shaT: 2, 4 3R 2 B & | 37 31 Serail 1 1 A1fr |
en ‘
- v.ve calcxflate the HCF of two number§ })y long division method, the last divisor 1s 2 and the
ssive quotients from first to last are 2, 4 and/2 respectively. Find these two numbers. { A€
(A) 12,16 (B) 18,40 rf‘?__S (C) 16,20 (D) 20,24 ¢ "

o . ()
et i feam i 29 Frsfyaiar o 25 fefer A iy & < & | 3t e el et fvef nfe a0

¢ - "1 ;
Wﬁwwwﬁﬁaﬁémﬁmwﬁ%pﬁgwﬁfmmﬁmmmn
(A) 904 (B) 85H. ,,]a (C) 100 (D) 110 4
t 29 kmv/hr and 25 kavhr. The faster train crosses a man

b

Two trains are moving in the opposite directioﬂé‘\
in the slower train in 6 seconds. Find the lengtic the faster train. o
(A) 90m (B) 85m & () 100m D) 110m

f53,240£ruﬁ13aﬁﬁ10%m@wmmﬁaﬁwﬁﬁﬁmwﬁm%mr{m&rmaq \ -

A sum of T 53,240 is accumulated in 3 years at 10% compound interest (compounded annually). Why,
y) at is

the original amount ? ‘ P
(C) T40,0007 (D) % 60,000 t

A) 30,000 (B) ¥20,000 ‘ \ R o)
) ot 61 s e o (¢ ) § AT o 1 781 2R FOR R WO gty
Td ;ﬁa\ﬁaﬁﬁﬁaﬁﬂﬂmifﬂiﬁﬁ)ﬁﬁﬂ%? ! ¢\ xS
’ \ f)cultural workers is S and that ot other workers 1y I ] i 3

%) of certain agr!
es that-of other workers, then the average monthly ingop,
/ €

397

qemTd 11
The average monthly income (in :
kers is 11 tm

number of agricultural wor
of all the workers is : GillT ] . St_l“ o ST :
Ay —+T (B) ”,’é” | © 12 g,‘é‘
118 ; s @ 2% HE qTU U | UE :
ﬁ%aﬁmzﬁﬁ.fsﬂﬂﬁ,,uwmqm 01 0 T
926
<0]

rlhc
n ¥) Yy e

SRl serfreaTt & | 75% A R R 2% W =
- j op B 17 ifa Haars SESEICIRE Hifi |
0

v / 3 are 't
: . otion. 715% of voters cast Hict ( i
There were two candidates in an 6lt;2t;,()l votes which were 759, of total valid votes. Find the tota] © Vo e
were found invalid. A candidate g0 ) "umbs \ \:‘“
of voters enrolled. (C) 16,800 (D) 16,505 _~ I ~

(A) 26,600 @) 11,600

their votes, out of which 205, of the e



82.

83.

8s.

86.
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250, Frfr 3
y qﬁﬁ%i’%*lg:::ﬁmqmaﬁﬁ%mm% | ST Qfrershedf e ) ST 8, A St 9 ey
o i B i yfereraredt ot 7Y 20 faft/erer &, o < 3 TS e 98 Fret a7
Z\:h. 9:9 o~ (B) 1000 %, (C) 8507, (D) 7007
mnn‘_e ISI:Ft’:tted by a policeman from 250 m. When the policeman starts chasing, the thief also starts
nning. © speed of the thief be 16 km/hr and that of the policeman be 20 km/hr, how far would the
thief have run before he ig caught ? (
g )
(A) 950m (B) 1000 m (C) 850m o (D) 700m
()
gmraaﬁr 64 TR 3 W 1 ek FfRr ol o | STt 6590 Tt #, o8 et 3R & T Pt e ¥ amae

AT | T SHHT ST 2 T o 8 v B | ) S0 T e st €

A cncketef' had a celrtain average of runs for his 64 innings. In his 65| inning, he is bowled out for no
score on his part. This brings down his average by 2 runs. Then what is his new average of runs ?

(A) 168 (B) 130 (C) 128 :F; (D) 170

21 oY ST o ST (AT TRT) B 10% 3T T 4,840 B ST et Tt TidT o @t 2

What is the sum of money that becomes ¥ 4,840 at 10% rate of compound interest (compounded annually)
after two years ?

(A) T1,500 B) ’(’4,00(2/ (C) T4,500 O (D) 3,400

X 3R Y wh R w12 fo 3 18ﬁﬁﬁq§rwm%‘|ﬁ%q%%amm§s%méﬁw4ﬁﬁ
3 18 Y oY DT et 3T X T et I e o fora | o o e et i) o g e 2

4 28
@A) 2 ®) 10fm © 18 (D 5 e
3 . _ ; .
X and Y can complete a work in 12 days and 18 days respectively. Tﬁell started doing the work together
but after 4 days Y had to leave and X alone completed the remaining work. In how many days was the
whole work completed ? @)
28
15 18d D) — d:
(A) _3_ days (B) 10 days ©) ays (D) 3 days
@é%mtmﬁﬁﬁ@gma:rﬁ%wamﬁrmém%aﬁtzs Tt it e @ | 24 R ¥ ae, 3%
a7t & Fop el O geh AT A & | <t 3 fra et Qe &t e fReT snfRe anfer are 4 39 qey &9
qU A § HEH B2 ol
! )
(A) 70 TE (B) 1007eY / © g ) (D) 757
A contractor undertakes to make a tunnel in 40 days and employs 25 men. After 24 days, he finds that only
one-third of the road is made. How many extra men should he employ §o that he is able to complete the
work 4 days earlier ?

A) 70 men (B) 100 men (C) 60 men ) (D) 75 men
a) 7omen T T &

N

HTZ-.24
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89.
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91.
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87.

88.

89.

90.

91.

92.

93.

94.

P SATIY s e 71 g
LSR 10%51%@3“%%?;3%?“%8’%%“%*@% @mﬂﬁ)
° . ¥ 4,092 tfire & d=ar 8, gy ar
T ot o @ aifee P o o’ | , o 250, 21 e ik B 21
A trader sells one item to a retailer
- at a 20% di t, but : ice, for
delivery and packaging. The retailer sells it o 7 4 G0 eharges 10% on the discounted pri

. %4,092 . %. At what
price had the trader marked the item ? 092 more, thereby camning a profit of 257 A
(A) T18,600 (B) %19,400

,600, , (C) 719,000 (D) 718,000
T A 3 o 7 A 20% B AT w A | aR ap iy 1,200 A & arer e, ot 3 59 31 AT B | TG
1 5 o T 2 () ’

) ¢
A man. sold an article at a loss of 20%. If he cqgid sell it for ¥ 1,200 more, he would make a profit of 5%-
What is the cost price of the article ? o

(A) ¥7,800 (B) 4,700

o (©) 74,800 (D) *4,850
22 %3 %53 2% x 3% x 5 1 WewH EEd (HCH) 31 AT | v
Find the HCF of 2% x 39 x 5%, 24 32x5. ]
(A) 22x3%x9 B) 22x3%2x5 () (C) 22x3%x7 (D) 22x3%x8

90, 128, 144 1 T GHIEE (LCM) Ta ISR |
Find the LCM of 90, 128, 144,

(A) 5764 (B) 5758 (©) 5760 (D) 5762

3 ARRAT T GRYUT FaH-cAfuT sTer 8, AT 398 & Th i 3199 7l 90 &1 65% Ta1 & €9 § fierar & saf
za‘(aﬁamﬁqg'}aqw 80% uﬁ%wﬁﬁw@@wﬁaﬁﬁa@éﬂﬂqﬁwﬁﬁ%{aaﬁaw

& 23]
The total emoluments of two persons are the "( e, but one gets. allm?/ances to the extent of 65% of his
basic pay and the other gets allowances to the extent of 80% of his basic pay. The ratio of the basic pay of
the former to the basic pay of the latter is-: e . L
(A) 12:11 (B) 16:13 b (C) 5:4 %;:ﬁ s
qmsqmrﬁaiﬁﬁmqrzo%ﬁ@z%m%mﬁaﬁﬁ%ﬁmu@qzu%wm | afe 7 T
e 2, A AT % T A | ) | o o

, ' i fit of 44% on the cost price.
A trader allows a discount of 20% on tl:le markﬁi) price. He still has a profi 0 price. Fing
the profit % if he sells at the marked price. . )
(A) 49% (B) 90% " uﬁgquamﬁéz R 10 9 250, 5

(V]
it 3 AW Aot &, us AT T 5,125 1 T s e

q:ﬁqtaﬂiﬁﬁzo%ﬁgﬁmaaﬁmluﬁﬁaﬁwﬁﬁw@“aa“' SR 1 g

et e o ? .
At a village trade fair, a man buys 2 hor;ez?)% ”
profit of 25% and the camgl ata logs 0 s 2 500
cost price of the cheaper animal \g’f;soo () 78,500 (D) T2,

B) %6,
(A) 2,000 (

o mﬁm%mmmmmm%mmmmmg?
2faT | AT

25. He sold the horse
for a total amount of T 5,1 . at
Eﬁ;’?ia;rwld both the animals at the same price, then the

. 1 ti i1sk :
ible for providmf guidelines and assistance for disaster risk reductjqy,
Which organization is responsi < - RR
worldwide ? WTO ) (© WHO . S 3
(A) UNESCO (B Tgooom e 13 01 24
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9s.

96.

97.

98.

100.

101.

102.

T ST ST G i fore 9
(A) TR B) fromacht () s (D) TR
Who authored the book, “An Era of Darkness” ? ¢
(A) Pandit Sunderlal (B) Christopher Bayly (’(%)) Asaf Ali (D) Shashi Tharoor
G20 T § “G™ 78R 1 7 75} & e

Lol )
(A) S (B) (©) TE D) T~
What does the letter “G” stand for in G20 Nations ? ‘
(A) General (B) Great ({:J) Good (D) Group
BITHT-STUTRE ST 1§ STt gt T 7 -2
(A) Sfaa deeft (B) wmfdrg ) SRINTICH (D) VferErfer
Fieldwork-based research is classified as
(A) Biographical (B) Empirical.” (©) Experimental// (D) Historical
qﬁt@ﬁﬁ.a@waﬁrﬁ@wn (TT) FISIT HE T et & -
(A) &t ud arfior &5t % e wen e B W31 vl & faem@ & foe ue dise
(C) rE-umivr 4@ Ya™ T @) Treftor &t & wredt gleremd Iuerey AT

The PURA scheme by the former President Dr. AbdplKalam refers to :
(A) A Plan for Urban and Rural Areas {B) A model for the growth of the metro cities
(C) Providing Urban-Rural AlignmerV ‘(}?) Providing Urban Amenities in Rural Areas

ST FT G T[T SATEH UsT DhiH-AT & ? o
Which State is the largest producer of bajra ? C)

(A) Haryana (B) Rajasthan (@) Maharashtra (D) Gujarat
TR oy ferega T IR a9 < foh foret # Rera &

(A) wE (B) TR (C) T (D) T
The Narora Atomic Power Station is focated in which district of Uttar Pradesh ?

(A) Hathras (B) Hamirpur (C) Bulandshahar (D) Hardoi
ZaTEYe fEren i i a1 1R 2 Q

(A) drewfed (B) ¥ ) e, D) T
What is the official currency of the United Kingdom&‘%)

(A) Pound Sterling  (B) Yen ) Dollar (D) Euro
Hrerea a1 e ? d

(A) e S ETEgeH Sied! @ <

(B) ﬂqﬁmﬁmmaﬂrmﬁawﬁi)
(C) N St e STEHTHATEE ol i shecht & &
(D) e iy sATardiS Bigd & &
What is Greenhouse gas 7

(A) Gas that releases hydrogen

(B) Gas that emits and absorbs infrared radiation

(C) Gas that absorbs carbon dioxide

(D) Geas that releases oxyggz/



103.
- 104

105.

106.

107.

108.

109.

110.

ST At et 21 41 T v

The identification number given to every re

.

ist ieri
(%) GSTIN- ®) GsT e prignaannt
Wg{ﬁwmmﬁmaﬁsj{aﬁnﬁ? () IGST
In which year was the Cyber Surakshit Bharat Initiative launched ?
fFa = et wrifet e % 9 & qrrr w9
(A) 113emg - (B) 19 3Frg ( XC) 21 forear (D) 14 Fa%aT
. . & ) . )
Which day is recognized as International Day of Pedce ?
(A) 111 Juiy (B) 19th Ay ) st
gust AC) 215 September (D) 14" November
WA Y Teelt wite o e i oft 2 )
(A) AHTEdt (B) 3 Iﬁ%ﬁ( ()C) wifFr i (D) &St a=g
Who was the first female Prime Minister of India 2
(A) Mayawati (B) IndiraGandhi ~ _(C) Sonia Gandhi (D) Sarojini Naidu

Frrferfas & & a7 v T w9T @ w7 SR 22
(A) T e G we e (B) wrivee dede Rifie

(C) e wnid widemes wisiifes fafiee (D) TSI T2 Hieamss i Hiwed foifies
Which of the following is the largest fertiliser producer in India ?

(A) Rashtriya Chemicals and Fertilisers Ltd. ‘(:,.:_-‘ (B) Coromandel International Ltd.

(C) Indian Farmers Fertiliser Cooperative Lirnitff;ﬁ_? (D) Gujarat State Fertilisers and Chemicals Ltd.
T AR ETE0T AU el ] AT 2 v

(A) 10 3T, 1993 '%(B) 10 ¥, 1993,

(C) 28 Tads, 1993 AD) 12 fdsr, 1993

The Protection of Human Rights Act came into forgﬂ on:

(A) 10% October, 1993 B 102‘; July, 1993

(C) 28" September, 1993 D) 127 September, 1993

STt B T ST Y YR G A e o W SR | |
(A) EFTRATFERE (B) fAgHE (C) = WRd (D) fEfereet §fEn

The cashless economy in India has been amplified with the Indian Government’s initiuti'\c of —
i o RSy chh Bharat (D) Digital India
(A) Banking sector crisis  (B) Demonetization 5 (C) Swa

mmmmaﬁm@&mﬁaﬁ’%mﬁﬁwm%?

e (C)  STUETTE (D) wefa

e ®) ionce 0 f Ayurveda’ ?

Which ancient Indian text is known as the Science Q . d ashast (D) Manusmriti

(A) Mahabharata (B) Charaka Gamhita _ (C) Arthashastra

5 ,
, ] | s

111, v S 3 e e i G f;’“q;” Py e 250 (D) SR 245

(A) :“3?32 £ - i ; provides (l{’g)r the establishment of Panchayats ?

. . : stitution : iole 245

Which Article of the Ind‘a‘l‘a C°Z“:t‘:le 43 (© Aricle250  (O) AT
_____ (A) Atticle246 (O T e iS of 2
HTZ-.24
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- T e 1 v e e g 3y g i T ST 22

m. 195FE (B) 1630 o (C) 257 (D) 239 12(
Which day is celebrated as World Meteorological Day ?

(A) 19t January (B) 16% April (C) 25t March (D) 23" March
113, Wi FRE _ Idwand)

SAC code consists of  digits.
(A) 10 Y

(B) 4 ©) 5 (D) 6
114. m%mgﬁ%wa%mmmq
(A) wa g (B) ) TRt Je®
(C) TER IO R (D)3 guTs <E =

Who was known as the ‘Iron Man of India’ ?

., 12
(A) Bhagat Singh (B):, Jawaharlal Nehru
(C) Sardar Vallabhbhai Patel (D) Subhash Chandra Bose
115. sa 3 Tsifewr vmam & for od o waar o it oft 2 ;
In which year did India gain independence from British rale ? 1
(A) 1964 (B) 1945 (C) 11999 (D) 1947~
116. 1997 ¥ 319arE i T siada ity 1 Sied TR SRR ¥ e, HSRr i ST 1 HHIH HAT S 2
(A) TEEHF TER aeied (Hlsseg d )
(B) =3TIF WAT-SrEvr-yidsw |y @ s d) -
(C) 3= =hmw aer (disscgdn)
(D) TEHTY] AFER d1Y (TATE) _
Which international treaty, adopted in 1997, aims to’ Bliminate the production, stockpiling and use of !
chemical weapons ? _ B
(A) Chemical Weapons Convention (CWC) A,
(B) Comprehensive Nuclear-Test-Ban Treaty (CTBT)
(C) Biological Weapons Convention (BWC) ]
('D') Nuclear Non-Proliferation Treaty (NPT) . . 1
117, S S FIR TR S %%qmg%mﬁﬁait‘ 2023 & for@t Tnfira foma ma = 2
(A) fasgagaaEe (B) gfew et (C) /e = (D) ¥ o fia.
Who was nominated as the Ambassador for ‘Wa#/ Against Waste’ in Jammu and Kashmir i .
September 2023 ? |
(A) Vishwanathan Anand  (B) Sachin Tendulkar (C) Vidya Balan (D) Captain Bana Singh
118, e § TEETEE F1 e 1 2 , |
(A) DNA wfagfd (B) Sl I (C) 5 Ferfire wiereor (D) WA Hyerwor
What is the main function of ribosome in a cell ? )
(A) DNA replication  ( B) Energy production (C)* Lipid synthesis (D) Protein synthesis 1

119. ﬁﬁamg@wa e WWM%WW‘}QWWW%?
(A) mm (B) F1 FEEn (©) ELLURCECIE] (D) fafes sigam
The distribution of mangroves is mainly found in which of the following parts of the Andaman and
Nicobar group of islands ? "
(A) Little Nicobar (B) Car Nicobar (C)¥ North Andaman

(D) Little Andaman » P




120. NOAA F1Hqea © :

(A) Tt el i ATt Taters (rarren Sfitfass o
e ¥ U3 TEHITH e vafifie)
(B) Tl e off aTeieeter e (wrrer it s vz fon vehfirm)
(C) vé e e (A SIS g ey '
(D) et e o I TS wratery (rerer %wm&%@m
; NOAA stands for : ! L |
(A) National Oceanic and Atmospheric Adminis,iratioV

(B) National Oceanic and Atmospheric Association.”
(C) No Organization At All -

(D) National Office for Arts Accreditation
121. FH-B1 NS T =T HT TG SATEF & 2

(A) 9feam ame (B) dftrerrg (C) ¥ (D) J&H_~

Which Indian State is the leading producer of tea ?

(A) West Bengal (B) Tamil Nadu _ (C) Kerala (D) Assam
122. Eh TS QL& aiwg shi i #12 2 ‘1‘

(A) WiEFRF HEH-NH HI T 1 ° (B) e smw ) i

(C) iUl are wewar i et amr o (D) RS wife S e ame T
What is the role of the United Nations Security ¢6pncil ?

(A) To promote cultural exchange . (B) To regulate global trade
(C) To oversee international humanitarian aid “.. (D) To maintain international peace and security

123. wra ¥, fa aﬁ:ﬁaﬂﬁﬂrmﬁﬁzaﬁmﬁnﬁ%ﬁﬁ%ﬁqﬁ%mmwﬁ ?

(A) UAPA_~ (B) POSCO sfufe’ (C) MISA (D) DIR 3iffam
In India, which Act provided the framework to deal with unlawful and terrorist activities ?
(A) UAPA (B) POSCO Act (C) MISA (D) DIR Act
124, St 3 S % &9 8 o ST ST @ 2 e
(A) "EERRE, " (B) FIH . (© I (D) &f
Who is known as the ‘Father of Geometry” ? { 4
©J (C) Aristotle (D) Euclid
(A) Pythagoras (B) Kepler ~ ( ')
125. mmw&m@@wmmmwgmw@% )
(A) ez durfed FHEAT ’ 17 (B) omaifsa Sugehatat 1 sh HTT
(C) &3 &1 AT (1 (D) IFaFT
What is the primary benefit of using analytics toeld in social media communication -
(A) Editing content (B) Blocking unwanted users
(C) Measuring performance & (D) Scheduling posts
126 a%m%?vh%uaﬁaﬁﬁaﬁﬁﬁmm%wmﬁaﬁ-mr@mm%ﬁmﬁ%mmm
3= 1 A fefan e & | ) ‘ N
(A) TEYH (B) "@¥euL” (C) g HET D)

y iti ) IS > or. {( r 'h“.‘h inc()ln( t'lx
(] { rou ’h lC ‘4 llllllllc m 1S u"d 1S & L()l"“&d 'Ul, )
i 1S d h b bl car C ol W W )

other tax is paid. (D) Black money

___‘
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127 et S f e G%&m)ﬁaaq.mmaaasﬁm%%mﬁwﬁaﬁmﬁmﬁﬁ L&

(4) TR B) Wi wmae (€)W (D) T

Which term in the Preamble of the Indian Constitution signifies that India is free from any extery,
contro] ?

(A) Republic (B) Sovereign (C) Socialist (D) Secular

128, mﬁﬁw%%aﬁﬁaﬂq-mwmmﬁaﬁrﬁwm%m%%?
(A) YRATS F7yaR

(B) BN AT 13m0
(©) = %1 g3t (" (D) e # 93w
Which among the following plateays in India lie bgtween the Aravali and the Vindhya region ?
(A)  Marwar Plateau = (B) Chota Nagpur Plateau
(C) Deccan Plateay )

1+ (D) Malwa Plateau
129, T AT & e e 1o 7 o 9 -
(A)  37ifesd iz 3t seitep gy )
(B) YA 9 7ary
(©) T HT T o
(D) meﬁaﬁmﬁmds&ww, SIS S gremero
What does the term “content curation” refer to in social media ?
(A) Blocking unwanted content
(B) Deleting old posts
(C) Creating original content

(D) Selecting, organizing and sharing relevant content from other sources
130. Sfffer 1 @i, R Refrear & wif e, 4T R &
(A) S9EgeH (B) &R - (C) AT Fifi (D) T g

The discovery of penicillin, which revolutionized;ii{edicine, is attributed to :
(4) Jonas Salk (B) Louis Pasteur '/ (C) Alexander F leming (D) Robert Koch
<
131. 9RE — &4 1 et e 1 ®TAem £ 9 C:
(A) wmﬁﬁa@amaﬁrmmaﬁma@m
(B) WdeA I FgTaT 3T C
(C) wiEHfae iafafert st fafafig s ®
(D) IR STETSAT St HH FHEAT
What is the importance of India — Russia Annual Summit ?
(A) Strengthening strategic partnership and defence cooperation
(B) Promoting tourism o
(C) Regulating cultural activities -
(D) Reducing trade barriers .
o
132. siferq wrsg 3ma FHfC | (
TSy : WTsg : fomm o |

A) qots (B) wy :

¢ (C) YATH® (D) wfiry
Find the related word. -~ \

Prime : Composite :: Odd : ? <
(A) Integer (B) Even (C) Positive

™
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133.

134.

135.

136.

137.

138.

139.

140.
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A T
1Y AR 3 y75% forehedt F ® & froqu ¥ | 36 4 OF
ST HHaT | 39 IT8g FY T |

Feferfes s & s Remusrese
%mﬁwmmﬁm
e e . “MATHEMATICS”

jven
In the fOIIOng question, you will find four ad?

: ide a £
tional words provided as alternatives alongSld

word. One of these words cannot be forme the letters of the given word. Identify that word.

d usx;c)
Given word : “MATHEMATICS” "

(A) THEM (B) MATH ! (C) MATE (D) MATTER/
ISR T Hifr <l

FAFAA W ‘ l
(A) T3 (B) ¥ | (C) ¥ (irg) (D) @tz ()
Complete the analogy : 4)

Dog : Kennel :: Lion:
(A) Tree (B) Den (C) Shed (D) Burrow

& oo I Afie st e g (9) & T T 3T |
Find out the alternative which will rep
243:23%: 62112

(A) 12/ (B) 212 o (C) 622 (D) 61°
R p@q=p?+q2+2pq, p#q=p-q’- 2pq% NI @244 FARTTEO
If p@q= p2+q2+2pq p#q=p?-¢? -2pgy Whatlsthe\alueof (T@2)#4°?

lace the questlon mark (?).

(A) 5897 (B) 568 <] (C) 6480 (D) 493
ST H H 9 J1 FHIfer | )
Find the missing term in the series. @)

ASBC, A4CE, ARG,  , AIFK i
(A) A2FI (B) A2’EF © A2E('} (D) A2EI_~
1 TS e # W €@ 71 iR |
Find the missing number in the given series. ‘

11, 15, 24 40 -
(A) 90‘* &257(1;3 95 e (C) 100 (D) 101
w15 tﬁz(aﬁmﬁ%'(aa?ﬁ% ﬁ;{&'lﬁﬁ'%‘cﬁ%&ﬂ(%tﬁaa»ﬂtaa?ﬁ% I E’EWM'@ZHM?{&W .
i v R 8 2 3 &
(A) 23 Hiwufrm ] (B) 25mam.wﬁ\at\:/\ ™ s
(C) 26 Im (D) 20 e 2fgor -
Anna walks 15 meters south, then turns right and walks another 20 meters. How far and in w hich dirt\zion S s | f\

h t? (8))
E;S)hezf;o;letgssvtva;ing poin (B) 25 meters south-west ‘
(C) 26 meters north (D) 20 meters south e
A | ST vg e AT | e
Find the next term in the sequence. \
ABBB, ABBBB, ?

A) ':g;BABB’ (B) ABBB (C) ABBBB (D) ABBBBB



141, T T & hefl IX 3 ST 6 S gy

14

A,B,C,DEI
A | @ 4 {9 B g1 C i;éi]il)
q_ﬁ Q Q 4——_/———
BTt 7 argefiot or 28 23 17 27
refanier dtem o TRt fey — |
Tt vl & Iefet o 14 12 8 13
arefanfier wdam F Seiot St ]
e e § orpeot s I 9 5
=t & Ll 64 55 46 76
m aﬁ. a"ﬁ Y ) N \ e — 5
ST Y G 3 e g AT T & HEAE T ) qer F % e 8, Fefatea 7 &
HH-AT FAT T 2 (. N
; . ' (&
(A) 3 RIS Y IS T I TR R G TN bl S bl |
(B) Teiaiyen udter S1ftren i off |
(C) aiieh qlter 3fereh s off |
(D) T G T SIS T ST FHIA AT |
A school has four sections A, B, C, D of Class I students.
Result Section f Section B | Section C | Section D
Students failed in both exams 28 : 23 17 27
Students failed in half-yearly but
. 14 12 8 13
passed in annual exams
Students passed in half-yearly but _
o 6 17 9 15
failed in annual exams R
Students passed in both exams 64 55 46 76

In the context of comparing the difficulty level of the two examinations based on the < i
passing, which of the following statements is true-? MUTIOE: OF SaCRs

(A) The two exams cannot be compared for di fggulty level.
(B) Half-yearly exams were more difficult. 'y

(C) Annual exams were more difficult. x

(D) Both the exams had almost the same difﬁcn.ll_‘lty —

142, ﬁéﬁwﬁaﬁﬁﬁﬁmmaﬁ@m,gﬁwnaﬂtﬁﬁ%aﬁmﬁm 3T a0

Which of the following diagrams best indicates the relation between India, Haryana and World ?
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m\)

A) 25 ,.
~ ® 2z € 2 D) 24

Analysing the figure, find how many red objects are not plastic.

Plastic ——

«—— Balls
7-\10
Red—> | 3 / 9 g 7
(A) 25 (B) 22 ., ©) 23 (D) 24
144, TITh 1 SFET IV 34K HTh! 3 & (Froargis) a1 ior g7 e |
TN , [
25% 570 )
21% ’ . 1
%
W
(A) 90° (B) 30° < (©) 60° (D) 72°
Study the graph and find the angle of sector of coffee.
&

|
; Consumption
;

. N
e

25% 41349, 5

2%
20%

(A) 90° (B) 30°
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l4s,

1406.

147.

148.

149,

150.

(-

$d

U fAfir e vt o, AR UECPARTNER ®) “OZQSMDQ” # &9 & e fhar S &, ar 3eft sy,
Yisq CSEGMENT' @ FRTT e ar g 2 S
In a certain code language, it the word “*PARTNER”’ is coded as ‘“OZQSMDQ""., then what is the cods
for the word **SEGMENT™" in that language ?
(A) RDFLDMS_~ "/ (B) SERBCPT
(C) QWSARTH | (D) TFHNFOU
A rd e WIT T IR 0 P srfvreafen @ aeet s, SRt 0, o BT, 0, Fravhar
()
o e R e e awfar 0
Simplify the following expression using the given code language, where ‘+’ represents *x’, *x’ represents
"'~ represents ‘<" and ‘< represents *+°. . : \ 6 =\ v Y \“f :
- ,‘ 'y < QU . \
lox4+4%14%2 08 y- I8 %
(A) 28 (B) 40 ©) 35 D) 76\ . v oMW
" YL AN
T T ) I G HQ BU, Heroft I HET, IaehT G W TS BT gehedtaT ST ] | TE STEH FHoarot & frg
e dalfrg & 2 -
(A) g (B)  wefi L (C) ufy (D) ﬁm/
Pointing to a man, Kalyani said, “His grandson is the only son of my brother.” How is the man related to
Kalyani ? )
(A) Brother (B) Nephew (C) Husband (D) Father
Frforie wem #, snuent R T wse & A A 31 wew farshedt o ®Y F Rw u ¥ | 3 & weh wse 1 UM
YI8E & G T ITANT SFTah T8I ST ST Wkl | I Yo ! Y@= |
T wsg - “FORMATION™ o
In the following question, four other words are (pfovided as alternatives alongside a given word. One of
these words cannot be formed using the letters of the given word. Identify that word.
Given word : “FORMATION™ W
(A) MINOR (B) MAJOR 1 (C) TRAIN (D) RATIO
T o o 38 ke AR, O A Y 39K 6 et o @, o e e o et 4 km et | 3, 7
ard SO, 18 km et 3 1 e gl | vy foig 3 weend & swe R e few i Rer 2 9
(A) W (B) @ ) (O) fgorgd (D) S
Seema ran 8 km towards east, then turned left and started walking 6 km, then she turned right and walked
for 4 km. Finally, she took a right and walked for 18 km and reached her home. In which direction is hef
home located with respect to the starting point ?
(A) North (B) East (C) South-East (D) North-East
gfe o+, = H oW R+ o @ oawha R, 0, k0 @ awlar ¥, ek o, 40 @y awtar &
30+ 10+6-5x6 FAMTTR?
If *+ represents “=, *<’ represents ‘-, ‘- represents ‘x’, and ‘x’ represents ‘+’, then what is the value ©!
30+ 10+-6-5x6"7
(A) -21 B) 12 - ©) -10 (D) - 14
27 R e 5 ¥
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